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T H 4 B Ak NEREE B EE B i T

i L Y5 Bt ¥ BRI TH31I—1

T H S JuAE 5H 27H o A JoiE 10H 4R ET(E R )

AN I SMBERIE SR DA | fh (HE%R)

woa & (1) T F i & (M) THEBIAMEE (1)

BHIRRFSHH 102,471,600 93,156,000 (A) 9,315,600
AL G| 106,780,300 97,073,000 (B) 9,707,300
EIES D 96,558,000 87,780,000 (C) 8,778,000
AL S SE o 100,617,000 (F) 91,470,000 (D) 9,147,000 (E)

M A 4,059,000 3,690,000 369,000

FEH)  (B) X (C)+(A)=(D) <KDIETFHIED- - FHLLFUR%BT>




% BE/NEREER B Eth TS No. 1
RETE EAT RETERR o
= L P = 34 J-1- 3 & 1ﬁ;i =
® H w = T TINNT 24 g M B s | EOVERE WF
(RN ¢
[ #ETHE = 59,008,887 = 60,871,609 1,862,722 H4%H
| s L =X 3,612,552 = 3,774,292 161,740 HE%E
I BhER (s L =X 9,490,435 =X 10,676,805 1,186,370 H§%H
[EREEE X 72,111,874 75,322,706 3,210,832 HE%E
HE
I ek =X 2,453,450 =Y 2,523,915 70,465 YEEE
0| B5E e =X 7,568,496 = 7,780,113 211,617 H8%H
— i =X 11,022,358 v 11,446,896 424,538 HE%H
BiSTE 21,044,304 21,750,924 706,620 Ha%HE
it 93,156,178 97,073,630 3,917,452 B4
FEeHE (T FmE) THA# T 93,156,000 97,073,000 3,917,000 H&%E
THE B S %R 9,315,600 9,707,300 391,700 Ha%HE
waet (LFEE) 102,471,600 106,780,300 4,308,700 HE%A




£ E/NEREERNEREHMIE No. 2
REtEER REEFR o
® H BOF | ye wm mm Yy g B BE o | EUEEE W
I |BETSE
A [E BB S T 5 2V 31,207,959 Y 33,070,681 1,862,722 \Ha%E
B & BRI B ks T 5 = 16,693,156 = 16,693,156 0
C |&Fir L E TS = 11,107,772 = 11,107,772 0
Gt 59,008,887 60,871,609 1,862,722 Ha%H




EAE ] E/NEREERNEREHMIE No. 3
RETE EAT RETERR a3
® H W= g B B s g B B o | EUEEE WE
A BB EMMRIETIE
1 |EERGETE 1 K 3,149,804 1 =X 3,149,804 0
2 Pk ILE 1 = 1,665,704 1 = 1,665,704 0
3 |AhMEELE T 1 K 3,813,760 1 =X 5,676,482 1,862,722 H4%E
4 |EKMETLEF 1 = 21,807,951 1 = 21,807,951 0
5 |BEKETHE 1 =X 152,890 1 XK 152,890 0
6 |ZFofth T3 1 = 162,232 1 = 162,232 0
7 sy 1 =X 455,618 1 XK 455,618 0
&t 31,207,959 33,070,681 1,862,722 H4%E




EAE ] E/NEREERNEREHMIE No. 4
RETE EAT RETERR a3
® H W= g B B s g B B o | EUEEE WE
B |EEMEANEESETIE
1 |EERGETE 1 K 1,005,464 1 =X 1,005,464 0
2 |[BEdELE 1 = 10,348,704 1 = 10,348,704 0
3 |k s T E 1 K 2,182,992 1 =X 2,182,992 0
4 |[BEXETE 1 = 664,509 1 = 664,509 0
5 |azyh R OVEOM TEH 1 K 1,432,150 1 =X 1,432,150 0
6 |fi- st 1 = 1,059,337 1 = 1,059,337 0
&t 16,693,156 16,693,156 0




EAE ] E/NEREERNEREHMIE No. 5
RETE EAT RETERR a3
® H W= g B B s g B B o | EUEEE WE
C |BEEM M LRETIE
1 |EERGETE 1 K 335,151 1 X 335,151 0
2 |[BEdELE 1 = 2,059,294 1 = 2,059,294 0
3 |NEE T 1 =X 3,805,945 1 XK 3,805,945 0
4 |[BEXETE 1 = 28,624 1 = 28,624 0
5 |azyh R OVEOM TEH 1 K 3,871,464 1 =X 3,871,464 0
6 |fi- st 1 = 1,007,294 1 = 1,007,294 0
&t 11,107,772 11,107,772 0




AR A Al NP BRI RE e At 5 (GHAEN No. 2
£ = - — IEW - — EEE E5IEHE 1B e
BE B4 B 8 ||[HE B B o2}
AR L
BN YOE T H
DEET 5 i 1-D)EEAT R 1 =K 176,990 1 K 176,990 0
1-2)EEAT 4yl 1 = 1,317,480 1 K 1,317,480 0
1-3)av 7V Myl 1 K 288,590 1 K 288,590 0
2)H PN I o 3 MR 1 =X 17,500 1 K 17,500 0
PE A 1 =K 12,620 1 K 12,620 0
4) S R A 4=-1)MVZEREHY 1 K 72,770 1 5K 72,770 0
5) K SRR M S-DE#EAEHRA| 1 K 134,852 1 K 134,852 0
5-2)1H KRR A 1 K 0 1 =X 161,740 || 161,740 H
& &t 2,020,802 2,182,542 || 161,740 Y
ERHEAEYE T HE
DEELT 5 i 1-1)EEAT 47 1 K 190,320 1 K 190,320 0
1-2)73 v Myl 1 K 923,110 1 5K 923,110 0
2)1 AR i 2-DIFZIFR 1 =K 6,730 1 K 6,730 0
3G - B 1 K 6,880 15X 6,880 0
YL BN 1 =K 75,020 1 K 75,020 0
5)k S B Rk fi SV h—Ky i 1 K 880 1 =X 880 0




s B AN R A BE LS A T o [FRR] No. 3

&R M= - — ZEW - EEE E5IEHE 1B e
BE B4 B 8 ||[HE B B o2}

AR L
6)7 Lt 3L A2 7 R A 1 K 2,850 1 K 2,850 0
DEAAL - AR B 7-1DBAAL 1 K 151,200 1 K 151,200 0

Sy 1,356,990 1,356,990 0

=X =X
3 |EEMAMESE T

DEELT 5 i 1-1)EEAT 47k 1 K 109,280 1 K 109,280 0
VL AR 1 K 30,620 1 =X 30,620 0
I AR i 3-DIFZIFR 1 =K 91,100 1 K 91,100 0
4B 5 B R A 1 K 3,760 1 K 3,760 0

o
W
()

A 234,760 234,760




2%  EELNEREESENEREMIS No. 2
# B mo® ¥ TEE] . an &8 ¥ TEE] Bn g | FOEAE RS
I | ESAsRR (L5
1) |EEBNL s
1 | Aess ki L 2y 3,974,100 2y 3,974,100 0
2 |fa/KeER(H L 2y 1,227,180 = 1,602,180 375,000 %A
3 |HEAKERAH LE 2y 2,528,080 2y 3,310,080 782,000 HE%A
4 | L =y 63,240 E2y 78,540 15,300 H4%H
5 |ELE FAMUG B E T =y 337,300 = 337,300 0
6 | AR L LG 2y 234,065 2y 234,065 0
/NEF 8,363,965 9,536,265 | 1,172,300 HE%H
2) |[EESMEE - B e
1 [fa7K - HEAKE I L5 2y 656,890 = 670,960 14,070 ¥E%HE
2 PR L 2y 381,880 E2y 381,880 0
3 |MELE MBS T F20 87,700 F20 87,700 0
/NEF 1,126,470 1,140,540 14,070 %R
& & 9,490,435 10,676,805 | 1,186,370 %A




